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Test 2

Question 1. Simplify, expressing your final answer with positive exponents only:
(a) (3 marks)
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Questibn 2. (3 marks) Subtract and simplify:

(1328 — 122% = 32 + 22 — x+5) — (=28 +2x° =32 + 2% +x— 1)
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Question 3. Multiply and simplify:
(a) (4 marks) ‘
Bet2’ = (% 2) (3xr2) (3w
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(b) (3 marks))
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Question 4. (4 marks) Expand and simplify:
4x(3x—2) —2(x+5)(x—1)
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Question 5. (4 marks) Divide using long division and write what the following equals:
6x* —13x+3
3x—-2
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Question 6. (6 marks) Divide using long division and state the quotient and remainder (indicate
which is which):

43 +x* —3x+5
Cox2-3x+2
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Question 7 Factor completely using the appropriate method. Check your answer when indicated.
(a) (2 marks)
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(b) (3 marks) (check your answer)
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Question 8 Solve for x
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